, compulsorily draw-diagonal cross lines on the remaining blank pages.

Important Note : 1. On completing your answers

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

(04 Marks)
The solution of the first orde

A) (y=-Tx-c)(y—-2x-— C)Qﬁ@f
RN
ii)  The solution of the eq‘uatmn P = log(px — y) 1s .

A) y=cx +sin”' o é:13) y=cx—¢°

%% b4 Can
iii) If ;i_x +%x 2 Be the linear differential equatron then the integrating factor is,
p ,
1 .
o B) p’ D) logp
iv)  The' qlfferentlal equation of atm0§pherlc pressure at any height Z is,
&s
W, dP pg
= = D) P=pK
) Z-X ) P=p
2
Solve : xy(g—y—) +d—y(3xf - (04 Marks) -
dx dx ° &)
Solve : y=2Px+P™ {, (06 Marks)
Solve : e (P - 1)+ P3e3y =0 (06 Marks)
Choose the correct‘“answers for the ﬁ)ltéwmg (04 Marks)
)y A general solution of a lmeag%giﬁérentlal equation of 3 order contains,
A) One constant B)%Two constants G){»Three-constants D) n-constants
&
ii) Thezsolutlon of the d'f%tentlal equatlon %» 2— jy 0 is,
, X
C) y=(C,+C,x)e* D) C,x=C,
2
itfi) Particular mte@ral of the dlfferentlal e%uatlon j—}i +y =cos2x s,
: X
O —cos2x D) —lgsin 2x
iv) Partncular mtegral of the dlﬂ’érentlal equation, y"+2y =2 is,
A) 1 % C) 3 D) None of these
4y
Solve : e*—5-+2e (04 Marks)
dx -
2
Solve the 1mt1alggalue problem, d_y+ 4d—y+ S5y+2coshx =0, giveny =0, gy =1 atx=0.
dx’ dx dx
(06 Marks)
Solve :\%%4—';4x+3y=t; i—i]+ 2x +5y=e' (06 Marks)
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Choose the correct answers for the following : (04 Marks)

i)  The Wronskian of u =xe* and v=¢"1Is, »
A) xe* B) x’e ‘ D) xe*+e*

ii) A linear differential equatnon in which there aresﬁz ‘r more dependent variables and
single independent variable is known as,
A) Exact equation
C) Simultaneous equation (

iii) Cauchy’s differential equation is a special case of Legendre s linear equation is,

A) a=1=b B) a=0,b#l, * v C) a=1,b=0 D) a=0=b

iv) In Frobenius method, equating to ,z&wet@fihe coefficient of the lower degree in x gives a
quadratic equation known as, N\
A) Frobenius equation
C) Linear equation

Solve by the method of variat

B) Indicial ‘equation
D) Multlple equatlon

+2y:_1 e ¥sec’ x (05 Marks)

(05 Marks)

(06 Marks)

(04 Marks)
The partlal differential equatlon of. %Ff& I (x +y?) is,

=0 B) p’ +q :e«O ) D) None of these

i)
D) x*+yi+y
iii)
D) ay—(2-+a) x+c
iv) of the form z= px+qy+f (pq) in two variables is

known, AS, 4
A) Clalraut s form Bessel’s form D) Legrendre’s form

(04 Marks)
(06 Marks)

(06 Marks)

Choose the eo rrec tl answers for the followmg (04 Marks)
i) thl%cdrhputmg the volurtfé%for f(x,y,z), which of the following expression is true

A) Hj dxdydz = Jdv ’ B) J‘”drdedz Idv

D) None of these

ii)

C) — D) 1
2 of 4




10MAT21

iii)  The value of ’Z’% is,

A) B) \2n
iv)  The function B(m,n) is not equal is,
A) _I“n.I“m
n+m
B(m,m+1 >

parabola x” = 4ay . ~ % (06 Marks)

Evaluate HI (x +y+2z)dxdyd i dre \%, =0,y=0,z=0 and
R &

X+y+z=1. (06 Marks)

Prove that J. d (04 Marks)

Choose the correc; answers for the follon : (04 Marks)

\" o

i) Forgany glosed surface S the value of ” CurlF Nds =

ii)

) 3 R
A) Curl F ) .. CurldivF =0 D) None of these

,IM‘ is a continuous]

v
s
< &

(1, 2). ,&% v (04 Marks)
Verify Green’s Theora;m@: T J.[(xy +y)dx + xzdy] where C is bounded by y = x and y = x*.

~ 4 (06 Marks)
o S

Evaluate §F dR Stoke’s theorem where i?)= y*i+x’j—(x+2z)k and C is the boundary of

the trlangle W1th vertices at (0, 0, 0), (1, 0, 0) and (1, 1, 0) (06 Marks)
3 of4 '
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~ Prove that L[t“f (t)]
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(04 Marks)

Choose the correct answers for the following :
) If L[f(t)]=F(s) then L[f(at)] is equal to

A) F(sa) B) aFG)

A) log(l+?—) B) log(i) D) log(i)
s s S a

iii) Laplace transform of tsin 2t is,

2 4s,, " S B S
- B ' [P e D) ——es
(s’ +a’)’ ) %?4} ) (s* + ) (s —a?)?
iv)  Laplace transform of e"d(t— B) is equal to N
A) e ¢P @) gl C) e'(‘*“’” D) None of these

(04 Marks)

Find the Laplace tran;

t
t®= {2a—t

Express the unction in terms of Heavxslde s unit step function and find its Ldpldce

Qs
S <t<
/%% sint 0<t<m g

transfg;%gn,” f=9 t wSt 2‘%
cost t>2n ™

(06 ‘Marks)

(06 Marks)

Cheose the correct cmswqrs for the iollowing {64 Marks)

141*

D)

JL'[e*F(S)] D) None of these
{ + 4cost under the conditions y(0) = 1,

B) Boundary value problem

D) None of these
Q) j (L) D) [e™dt
0
w7y 2 _
Find the inverse Laplacetransform of, — . = i : (04 Marks)
y s—6s"+11s—6
’ nVolution theorem, L™ ﬁl—— . (06 Marks)
; s°(s”+16) '
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